3300 XL 11mm HRFIEEIBRRSA

€@ @

HMRTL /T

B &

ERRB ARG

3300 XL 11 mm HLIRURALIESS RGEH LT LS o3 2k
3300 XL 11mm #:k
3300 XL 11mm ZEff H1 45
3300 XL 1lmm Rij# 2%

Xy B A L A E e i X Rash A7 B2 Ml 1=, 3300 XL 11mm
HIR AL S R 3,94 V/mm (100mV/mil ). 11mm [R5 k
i A P s S IRATTARVEERR) 3300 XL8mm 4% g RS L B AT
[y N2 T o I e s VA S R 2 Ky 2 e e | I ==

o B HESD AT AEI

o ZEVREEHL IO 22 )

o 52 R GEHLAE ZEATAL AL B B )

o IS 2 A N

o MBS CBEMIND) 55

3300, XL11 mm 77 E 250 E T H AR 2B 7200 241 11mm F1
14mm AL KR RS, HM 7200 R T F) 3300 XL1lmm REGEHS,  FT
IR A 25 8% 3300 XL11mm #BAF= e, [HINE, WA RS LT}
Ko WA 3500 WM RS, WIFERAHSMTHHIRA, ZRA
AfLASHEZS 3300 XL1lmm FR48; IAFR) 3300 Mol REEth 75 & 1EAHIN
FMENS. AR T IR 245 8, 0I5 AR P A0k 28 ) 24 Hb 4 45 IR
ZAKEL R

MFHE: 3300 XL11mm #7245 K 88 R 45 v v 4% 30
FEl A O 1) 8kHz A7 B sk 3R sh il &, LR WY H AL 45 42 1) IR sh R F5
Al 1) 1S A% AR B AT AN N

NIRRT R 5 8 10 2o R e 3% LA 0 FELU R B
PR IhRE, AE AL I v 3 o o) PR T 22 I

BN i ff 5 146256-01
JRA NC, 20004F 9 H

FAR VAT 5245 & Page 1 of 20



HI B 4%

3300 XL 1lmm Fy & #%5 3300 XL8mm Hif
Ea A R il 1, eRERT
DR g, ] DR LSS TR %
Heo DOt M PUR N RED e AR e IRRRAT
FEAT 2% FE A RT LA IK S KR Fie fd e A R b
XA AR AT DU G 52 B Al e I 26
HLBR T 1B A L PR 59 i 1l Ao
LR TR, AT BRI 2 T,
LA R AT

FEI AR K AN FE A FE 4R

3300 XL11mm BRKAT 2 FhAAS (14 Sk
HE, BLEE BEEEAIAREE SR 1/2-20, 5/8-
18. M14x1.5 FI M16x1. 5 #RLWB4r,
T 2501 3300 XL 11mm 53k J& 3/8-24
M10x1 [FIbRHENR S0, fEIKES RGN T 411
#BJE ClickLoc ™4 G4k, BE 235G 2417
B, OB ERRAE) . TipLoc ™ & R H 4 A
PRAE T HR Sk uitg 350 FH 3 A 2 [) (R 2B [ e #2 . #R
Sk HL 45 ] CableLoc ™ F ¥ 1127 4 i i 32
PGS, REARSZ 330 4+ (75 ) fFr
Ho

3300 XL #RSKFNGEf s 540 1T B2 i ]
PLEFE FluidLoc®HLZE, 1G4S n] LLR; 1)
B B VA v H 0 PN R T B AL AT 5
TEREHEL PR % ] U VR IR B o ol 3
HER RS, HEFEAETT A I 22 it 82
SRS, PRERIAEDEN . Yi4h, 3300
XL 1 1mm PRk B FRAE B R B 2 4>
FAL,

*:

L ArESSNTL) gt ol

ATST4140 4MREHE. tn] LLF 1K)
g e n AR AT A

90 FFT-4F—H 3300XL FEAHLZs, thn]
DA% R Ak b T fie i oA Qo B Sk AR
B, AHAERR S 5 S i F 4 R 0
FEAENLA R P LT, AR
A TR AR R o

BRI

FERAT A ANEWIN, BUR ST 3300
XL11Imm FE RS ZEH RN R Sk A e AR RIS
JEAE FAIEAE FEEI: ¥ 0°C~+45°C
(32°F~+113°F°) , —24Vdc HLJsifitHs,
10KQA A,  FHARRRI P Aah A A4 1t H A%
J931mm (1. 2in) BRI ATSTA140 £X
BT, ¥R SKIEBE 2. 5mm (100mils) . ok
FERIA] B e PEFRFRANE T AR AR £
IEONE ATST 4140 40 I FEHE )% kst &
2

FLAFPE

AT BRI PRt 3300 XL11
mm FE A TRRR S AN G A E
LIS S,

FHYE . Te bR 35k -17. 5Vde

£-26Vde, HLAIH AN
12mA, 7 BRI 2k —
23V dc &—26Vdc. 47F
BT —23.5V de HJEF
TAER K8kt yu
PN o

e B T R . 24k Ak R AR L 1
R, LR (AR Ak
T 2mV,

i BEPT: 50Q
Bk E B

BERKE () | AL RFAEISME RIS

(RPROBE) (Oth)

1.0 5.9+0.5
5.0 7.240.8
9.0 8.5+1. 1
S EBE AL

SEfE | AFLREEIR | AR SAE RS

BKE | LEEAMER SRS
BN 3 £ 5 146256-01 FAR VAT 5245 & Page 2 of 20

JRA NC, 20004F 9 H




(m) (Reore) (ohms) (Rpcker) (ohms)

4.0 1. 0+0. 25 0.3+0.1

8.0 2.0+0.5 0. 6%0. 2
FEAE L AT 2 ST 69. 9pF/m

(21. 3pF/ft)

IHEEE: 0.2 % 1.5mm° (16 & 24AWG) [
S JBIRIT 0. 250. 75mm’
(18 & 23AWG) 1. ZEX
fEH = hrlcE g8 .
3300 XL HrE ey
AR N 305 2K
(1000 9] o M H
B PR B 2 B 7 i AR A
ENEERE=3 PR
Mg []

4. 0mm (160mils) o 2t
90 FEL D PE 45 U A 1 £
0.5mm (20mils) AbJF
4, M 0.5 % 4. 5mm (20
2 180mils) o ZEKEL
HEmMZEZIM 0.5 % 5. Omm
(20 & 200mils) -

WHERE P EME: 2. 5mn (100mils)

IR R B

(ISF) 45
4. Omm(160mi 1) Zeb: U
FEl P9 LA 0. 5mm (20mi 1's)
11 S R N, RS
PR ZEAE A 3. 94V/mm
(100mV/mil) +10% .

M= (DSL)

FrdE DSL Y5 : 2hF+0.10mm  (+4mils) »
SEMDSL VG /NF£0. 15mm (#6mils) .

RGE BRI

PRSI FEV B £E — 35°C £2+120°C (—31°F
+248°F) . HE Ay A LE A 2 i R Y R AE
0°C F+45°C (+32°F %+113° F) W}, ISF
£ fE 3.94V/mm (100mV/mil) +25%2 P4, DSL
i F7E20. 51mm (£20mils) 2N,  ZEK Sl
DSL {#4F7E+0. 59mm (+23mils) Z W

VTR 4 R A 2 VU R — 35°C
A465°C (—31°F £+149°F) . R A7
1E 0°C £+45°C (+32°F £+113° F) I, ISF
f# ¢ 7E 3. 94V/mm (100mV/mi1) +25%2 P,
DSL % #pfE+0. 51mm (£20mils) 2 P, ZEKE
FE DSL {#¥#7E+0. 59mm (£23mils) Z W .

A M 8« 0 % 8kHz: ML (H R+0

#] —3dB, 305 (1000

G BUIAELER

HEFF fe /N S 74% 304 5mm (1. 2ineh)
CF- T i

HEFE B N H A7 152mm (6. 0inch)

2456 AR/ FF 76mm (3. 0in) 4 E4 T
s, TR R AR ) I sh Bk ] 1 AL g
(AR, 300 T U A% K28 1) H i3 AH B
THT R A LB R o T PR KA iy
T fe /PR LT 1RAS SCF4E, T2 4%

W ALESI AT 64mm (2. 5in) , X FAR 1A
PeBNIEAN T 54mm (2. 1in) o X THIE AR

NF 152mm (6. 0in) IR R IR Bh B A7 &
A 1 16 20K S BRI AR . 1S
el AT 144979,

60Hz. 300 FHTEAHIFEM (5 KARE)
B s mil pp/gauss

i) B ATES Bk FER LS

0. 5mm 0. 006 0. 001 0. 001
(20mil)

2. 5mm 0.033 0. 009 0. 005
(100mil)

4. 6mm 0.033 0. 027 0. 007
(180mil)

B E: AWM CE bR,

16 B6 1h X HE#E

HAZ T fEI6RAS 2 NS RbsuE 2
VFA] (CSA/NRTL/C) , ERRINFFA
BASEEFA/CENELEC.

Jt2E: Ex ia 1IC T5; 12K 0 X =X Exia
IIC T5 %F 1281 K; 41A B, C
D, XF 141092 HRp—AN 20 he
PN 8 2 A Ml 2 b i FRL R A S A

BN i ff 5 146256-01
JRA NC, 20004F 9 H

BORULHIAITT 5345 &

Page 3 of 20




ExnA TIC T5 1252 X K r ExnA IIC
5 X 135,2K, 4A B CH

D, 4% Hh 140979 HIEE fheds e
A

T5 @ Ta = —35°C %+85°C.

BRYH: EExia IIC T5 X 0, 1 MI2[X, 4
11C, BASEEFA 475
BAS99ATEX1101, 422 Py 2 Al
TRl H R AL AR
T5 @ Ta= -35°C & +85°,

FEx nA X} T2 [X, 41 11C, BASEEFA
YIS BAS99ATEX3100U,

WU 1
BRLumEpARl: B (PPS)

BRLas bl AIST 304 AN4B40 (SST)

BRSL B A% :  75Q =4 flif) FEP 4445
Skrpdl, HALUTFRKE
Kkse: 1, 589 XK

M16x1.5 #R3k | (560 in-1b) | (187 in-1b)
TAALS
R s 22.6 N-m 7.5 Nm
(200 in-1b) | (66 in-1b)
LA Fe% M
e NI 0.565 N-m (5 in<b)
BN ¥R

(e SST 483) @ 25.4 nm (1. 0%in)
RAERE (HAEE)

75k 70 g (28,00, (B
RRGEIE, n O, A
)

170 g (6.0 oz) (Ew/MK
B oAk, Im Sk, BESE)
FeAAK ER I, Y
1.1 g/mm (1.0 oz/in)
X 5 R K I, B
FEAERTIE N 180 g (6
oz), FAZENHIN 560 g
(20 oz)
B9 KT KE, T
FEEI 40 360 g (12
oz) , FHFERFHIN

i B Ykl ) FEP 414
FEARER Bl 75Q =44l FEP 454 1120 ¢ (40 oz)
T A A R JIEAH L2 45 g/m (0.5 oz/ft)
SEREN 75 . 14 1. f
ET S P LY D ETER S e R
FEd L SR EH %%
(A3 - St AIST302SST AN S |
£, HAF FEP #hRZ. gfﬁg%@
ﬁﬁgﬁg (%i) : H\ﬁ%%ﬁ‘?”ﬁi%% {E)}H%Dﬁﬁ%?ﬁliﬁ: _510ci +177°C (_600F
#5h 330N (75 6%) o M ' %5+351°F)
PR3k S 508 4 ik A e 25 4 5k
A 270N (60 1) P BRI T-34°C
B LR (—30°) W43 T Iy
BRI
BkaiiE | SiemXE WA SEfd EL AR R Ya
1/2-20 # 45.2 N 15.0 Nm A FHFIAE AR . —51°C & +177°C (-60°F
5/8-18 #3k7% | (400 in-1b) | (133 in-1b) %+351°F)
LGS AESEEEE
M14x1.5 Fl 63.3 Nm 21.1 Nm
BN # 1F 5 146256-01 FARVEIHFNIT B2 45 5 Page 4 of 20

JRA NC, 20004F 9 H



A FH i -35°C & +85°C (-31°F
% +185°F)

-51°C & +100°C (-60°F
& +212°F)
BAESLIRY w, T
K, 100% A kE. HEAT
IEC68-2-3 i@ # & .
3300 XL FR3LAEBR K w35
ek [0 BAT s 228
o BELEEME H
Viton®%E A . Rk
TEREME 2 AT T R )
Fril. an SR B O
() 5 B e S A
W, wT LS IRATHIH %
TSR R o

W P TR AL
P TR B A TR 2R
B TR, S4h, i
R EAE pH AR AR 2
JE RSk it AL A, 51k
I iR B SR A . Ay
R AL A w) A T Lk
JRIK S HE R 3300 XL HLI TR
B SLIIR AT AT T4 T
HH TR AR 1 3300 XL
CERMR DS 7 N 97 i ]
JE RS

LR, 5,016, 343

AL L -
FARHRE -

BEKEN:

5, 126,664
5, 35145 388
5, 685, 884

IR R SR A A R A
TA o

THRER

3300-XL 11 mm HLIRFIEREL:

330701 3300 XL 11 mm #3k, 1/2-
20 UNF 324, Je4dzk

330702 3300 XL 11 mm ¥k, 1/2-
20 UNF B4, %83

330707 3300 XL 11 mm #R3k, 5/8-

18 UNF 24, dE4d3E
330708 3300 XL 11 mm #%3k, 5/8-

18 UNF #R4y, #H%E
TR (4B~ AXX-BXX-CXX-DXX-EXX

T IR
A: TBLKE
JETI :

VE: TCRBSUKRE WA L Sk
FeAk/NF /. Oinche
ITHEHTLL 0. 1in B,
KA.
BRTBLKE: 8.9 in
B/AMNEIBEEKE: 0.0 in
ldm: 0 4= 0.4 in

B: sk
I TR LL 0. 1 28~ i %
MR AL A
BREHEKE: 9.9 in
B/PNFEAKE: 1.0 in
Bln: 2 4 = 2.4 in

C: BKE

VR I (3.3 L))
(16.4 JER)
(

1 1.0 K
5 5.0 K
9 9.0 3k (29.5 TER)

o o ©

T 5 RGBSR A B 5 OKIKTHT
EARC A .

o

s RS L R R T e

0 Ahedk, bRt

1 A Bk R 35 AR [ ClickLoc™
Fe, Atk 25

2 PR A ClickLoc™ 23k, kRt s

0 AHpsk, FluidLoc® HiZE

1 A BRS04l ClickLoc™
$3k, FluidLoc® HLZ

2 TREH ClickLoc™ 3%, FluidLoc®
EERA

(= =)

—_— -0

[y

m

: HEHENLA
M5
0 0 ATk
0 5 ZVFAlHHY

BN i ff 5 146256-01
JRA NC, 20004F 9 H

BORULHIAITT 5345 &

Page 5 of 20



3300 XL 11 mm HERHAHERL, Al
330703 3300 XL 11 mm ¥k, Ml4 x
1.5 $8ey, Je4ass

330704 3300 XL 11 mm ¥k, Ml4 x

1.5 BRg, #HIEE
330709 3300 XL 11 mm #R3k, M16 x

1.5 BR4, Je4dds
330710 3300 XL 11 mm #R3k, M16 x

1.5 WB4r, #H%k
TR (B~ AXXX-BXXX-CXX-DXX-EXX

IR
A: CIRGUKE
LI :
T OB E A R Sk
mfZIS/J\ﬁ//]‘ 26mm.
1T BRI LA 2mm 283
ISERERSY
R TCIRSCK S 224mm
/NS S . Omm
Fldn: 060 = 60mm

B: Fefki K
LT ITEEHTLA 2 mm 3y
A%%ﬁ@*.
BAKKE 250 mn
B/MEE: 26 mm
Fl:0 6°0 =60 mm

C: Bk
Y I5i 10 4.0k, (383 %R
50 5.0 K (16.4 HER)
970 .9.0 K (29.5 FER)
5Kk e S 5 K AIHT

o AL A o

Dt L R g SR ik

0.0 Ak, prfErdi

0 1 4 By 25 IR [F) 4l C1ickLoc™
ek, R g

0 2 PhAYEIH ClickLoc™ #23k, bruErpds

1 00 AHE3k, FluidLoc® HEL4R

Ll SR S L A4 ClickLoc™
$#3k, FluidLoc® HLZ

1 2 P [ESh ClickLoc™ #%3k, FluidLoc®
ERAA

E: fituEbL
I 00 A
R
05 %
VERTHY

3300 XL 11 mm REFRL
330705-02-18-CXX-DXX-EXX, 3/8-24

UNF R4
330706—005—-046—-CXX-DXX-EXX,

M10 x 1 #BZL

TR

C: BkKE

I

10 1.0 2K (3.3 5t))
5.0 50*(64%R)
90 9.0 K (29.5 H)
V5 KRR HBE S 5 oKRATHET
BN A

D: Hkikdr

00 Aepsk

0 2 7 [Al%h ClickLoc™ 23k

E: #EHENLR
I 0 0 ANEEK
0 5 ZVFAIHHY

O TaEERI S, 3K
A AR k. HAT, 1%
AFHRER RS
330701-00-10-10-02-00
330701-00-20-10-02-00
330703-000-050-10-02-00
330705-02-18-10-02-00
330706-005-046-10-02-00.

3300 XL 11 mm B & 28
330780-AXX-BXX

pril k1B

A: BRIk B

50 5.0 K (16.4 3R RGEKE, MRZE
%

51 5.0 2K (16.4 35R) RGEKE, i
e

BN i ff 5 146256-01
JRA NC, 20004F 9 H

BORULHIAITT 5345 &

Page 6 of 20



52 5.0 K (16.4 %) RFEKSE, L% 144979 PERE BB
B 1
90 9.0 K (29.5 HR) REGKJE, T 02120015 Bk, 1.0 mo® (18
GRE AWG), 3 %, &Lk, Btk
91 9.0 K (29.5 ®N) RGEKSE, FH AT N, fREK
e JELLDE R
92 9.0 K (29.59ER) RGEKE, JLwdk
fi £ 02173009 Mgk, 1.0 mn’(18
AWG), 3 %, &R, Bk
B: HEHEHLIAIE I .  $Re K RLER
0 0 AZk it
0 5 ZVFn M
138492-01 £ FH AR 2225 4
3300 XL 11 mm FE{HERZS 138493-01 e H T e
330730-AXXX-BXX-CXX y
VE AR AE A o 40 K T SRSk K P 2 R T 01609137 BNC (F) R4k
MrESLKE
01609138 BB A LM ET R (B
TR AN BNC (F) 53k A A5
A: K &)
EHE
040 4.0 % (13.1%% 40971-04 50 DA L 48 A I BNC
) o) k. ZHm%y &
080 80 K (26.2 & fiil %% 01609137 FI
) 01609138 — & H T T E
AL LA B AR IR ES R
B: ke 4o
P 0 0 FrAEHLLE
0 1 Es 04310310 3300 XL BB ARMHAR 23
0 2 ML R URET. ALPEOLG 4 A
40 6-32 UNC MEE0e R 2 4
0.3t B S i 2% e 1 (55 3300 XL i E 4%
B 205 FEAR—[F$EE [3300 XL
1 0 FluidLoe® Hi45 APEI] ). .
1 L 483 FluidLoc® H145
12 AL B 03200006 R R . 9.1 2K
FluidLoc® Hi45 (10 1) FeR) Il P s 4 iy
1 3 AT LR B kY e MRy k. wERER
FluidLoc® Hi4i WA Ty He, Rk
o2 AR R T 4. AEHL
C: HUENLIY %%%Wﬁﬁﬁﬁﬁ%ﬁ
BT 0 0 Azisk g s o
05 ZIripx 40113-02 By diatk. 3300
B XL %%iﬂiﬂ;ﬁﬂ%%ﬁ@%
14625501 11t LR ALEE, PR ESK R
PR T H .
BN #f 5 146256-01 BRI AT 5245 A Page 7 of 20

JRA NC, 20004F 9 H



PR A IE RS . AT
CARTIY 3300 $2k PRy 4%
e 3300 XL #SLAN

TEIEAR L 4 PO HemT
e I ERMRY

JEAHL A5 Sk A 330152-01 3300 XL 434
40180-02 3k Aryge. AN RS 10 X o AELE 3300 XL #
kAR R SKFNGE s b, s
—E M ClickLoc™
Pk, B4 mEM S
JBEAT o
03839410 ‘"MLARY 4%, AT LML
by Bk BRI LR 136540-01 ek TR, @

Pras R, AR RLR
B4, 03839420 [l
AR B o 2B k
P R S O o7

5—4 75 Wkii/3300 XL
ClickLoc™ 48 A FnE -k
ISR T HiZHE i
L,

SR R, e g
BESRBERE . 71228

©2000 AHFHI N HEIE . BT E
WEAMEBEER, BAFITESS.

BN # 1F 5 146256-01 FAR VI FNT 2845 &

JRA NC, 20004F 9 H

Page 8 of 20



AL I NG
Rk, EEH A RS mm Cinch) o

Gap (mmj)
05 1.0 15 2.0 25 3.0 35 40 45 5.0
10 0.25
& 0.20
w & 015
E 4 - 0,10 E
- pf—w 1 0.05
E o l—= b e — 0,00 E
w2 TR pos W
7o -0.40.
= .6 015 B2
-5 -0.20
-0 -0.25
10 5
F ]
E u} 3 - =
'-“ ] 'f""'. I g S I
E -5 :'f—i:'f/ == -
-1
- 20
| >
15
F_j-d’
16 {f--’-"’
1 ..a-"";d
% -12 ’_‘,;"'"'f
E' " .-e"’f”
g s f'_,;
=] 4 f"_f
4 __’_,-"’#
21~
| =
0
20 40 0 &0 100 120 140 160 180 200
Gap (mils
Sm Systan & 23ckg C (7S e P
————— Sm Sydemn & Odey C (532 dey F)
seeeeeesnm Sydem d 45 0deg C (113 deg F)
1 #%9 3300 XL 11mm 5m &%
BN i {4 5 146256-01 FAR UL R B 45 Page 9 of 20

JRA NC, 20004F 9 H



Gap (mmj

05 1.0 15 an 2k 3.0 35 40 45 5.0
10 4 0,25
& .20
w 6 015
E . .10 E
- oz 0,08
'E ofmeopooop=  fo-op opoo e 11 E
e E— 005 W
7 4] 010 @
2 .5 o5 =
- -0,20
-0 -0.25
10 5
£ 5]
0 e L
) ] o = LT
w 3/:./_, T
@ . r
-0
-
15 __,fi‘ff
16 =
=
14 {ﬂff
2 -1z =
=] L=
E’ -10 \__,;"‘J
‘E- -8 ,cf:ﬂ
=] . ,p-'-’f
4 #_,.-""J
: ] i
1=
0
zn 40 & a0 100 120 140 1601 180 200
Gap (mil s
Om System at 23 deg © (73 degy F
————— 9m System at 0 deg C (32 deg F)
seeeeeeqAmEystem st 45 dey C 113 deg F)
K2  #9% 3300 XL 1lmm 9m %%
BN # f = 146256-01 HARBIAT e 13 Page 10 of 20

A NC, 20004 9 H



Gap (mm)

o5 10 15 20 25 30 35 40 45 50
10 4 025
g ] 0.20
TG 015
T 4] 010
= 27 — ] 0.05
g 0+ e e S e =—r——1=—— 0.00
2 e e i 1
(TN - -
B g IR
2 5] 020
10 -0.25
10
E 97
E E p— > .,-o-"""'f
0 I——xh e =
o I S s I
L ] T
&5 SALLE] FEAN
-10 4
=20
] P
15
] T
1B ...-"‘f‘
5 14 e
= 1 ]
g 2 —
E -10 ,,-""
g o] <
& ] r,-ﬂ"'"
4] .-";,’
2 1=
1=
1]
20 40 G0 80 100 120 140 180 180 20

Gap (mils)

Praobe +1 mCable at 23 deg C (Y3 deg F)

— = ——Frobe +1 mCahle at 0 deg C (32 deg F)
------ Frobe + 1 m Cable at -35 deg C (-31 deg F)
—-—-=Frobe + 1 m Cahle at -51 deg C (-60 deg F)

K 3 ik 3300

DSL Emor (mamy

XL 11mm ¥R3&+1 m #B48 (KD (ArESS+4m g (2590) )

BN #B 14 5 146256-01
A NC, 20004 9 H

AU FIT B2 45 5

Page 11 of 20



Gap (mm)

0k 1.0 15 2.0 2.5 30 35 4.0 4.5 50

10 0.25

8 0.20
F 6 015
E ¢ |:|.1|:|E
= 2 005 =
5 03 ——t——m==1 000 &
6 dEET 777t T -0.05 5
F T e —— -0.10
2 5] == = 10158

-5 ] —Fe=e=s1 020

-10 025

10 4
E 59 — -
R e e
S 2= (N IS AN A S SRR
E 5 - =L -

i

-10 4

-20

18

-16
3-14_
E -12 1
5 -10 1
5 ]
SR:

4 ]

-2

0

A 40 G0 ao 100 120 140 60 180 200
Gap (mils)

Probe +1 m Cable at 23 deg C (Y3 deg F)

—=——Probe +1 m Cakle at 65 deg C (130 deg F)

------- Probe +1 m Cable at 121 deg C (250 deg F)

————— Probe +1 m Cable at 177 deg C (350 deg F)

P 487 3300 XL 11mm #R3k+1 m B4 (EiRD  (AUE#s+4m LR (25°C) )

BN 3 1 %5 146256-01 FAR VIR 5345 B Page 12 of 20
JiiiAs NC, 20004 9 H



Gap (mm)
ns 1.0 15 20 25 30 35 4.0 45 5.0

10 025
g 020
T 5 015 E
E 41 0.10
= 2 ans =
§ UfF—o——g——T——rT——F — 0oo 8
o 2 ==z == 005 5
= 41 — 010 4
@ -6 015 @
2 ] 020
10 -0.25
10 4
= 5]
E ]
0 — __‘—_=—__ —
S e T
. S
-10 4
|
|
13 -
A6 _:(aﬂ{f
' T
& -14 =
= 1 e -
g -12 =
g -10 S
‘g' 8 4 .-:"“f-‘!
& ] "_J_‘..r:'-"
4] f-rf‘"
-2 ] -"“d )
1~
0

20 40 G0 ao 100 120 140 60 180 2
Gap (mils)

5 Proimitor + 4 m Cabkle st 23 deg C (73 deg F)
— — ——5mProximitor + 4 m Cable at 0 deg C (32 deg F)
------- 5 m Proximitor + 4 m Cahkle at -25 deg C (-31 deg F)

5 A 3300 XL 11mm 5m BUE LS 4 m ZEMAEEE (KD  (FELIEE 250°C)

BN #B F 5 146256-01 FAR U] 5245 B Page 13 of 20
A NC, 20004 9 H



Gap [mm)

05 1.0 15 2.0 2.5 30 3.5 4.0 4.5 5.0
10 1 0.5
g 0.2
E -] 1 .15
z 4 1 010
= 2 — 005
E 0] = e e —E_:___ — 0.00
(TR S o — -6
REE ~ =l - ~1 .00
N e Pl I B,
-8 —=t -0.20
10 -0.25
5
O e e
o 5] ekl e P
uI] ] - _--- = - -
w ] - p
o b T4
= 10 —
-15 1
-20
]
-18
i
-16 <t
_ u -.{{F:fu!w:_f:
2 Ponil
o ® [
=
= -0 f"“f
o, v
3 L
[} . ;’_..-""'f
4 __f,.-“"’
2 Pl
=
L]
20 40 &0 &0 100 120 140 160 150 200
Gap [mils)
5 m Proximitor+ 4m Cable at 23 deg C (73 deg F)
————— 5 m Proximitor+ 4m Cable at 45 deg C (112 deg F)
--------- 5 m Proximitor+ 4m Cable at 65 deg C {150 deg F)
- 5 m Froximitor+ 4m Cable at 85 deg C (185 deg F)

Kl 6 817 3300 XL 1lmm 5m FiE 8847 4 m fEMEEZE (ERED

O5L Error [rm )

(LR 25°0)

BN #B 14 5 146256-01
A NC, 20004 9 H

AU FIT B2 45 5

Page 14 of 20



Gap (mim)
1.0 1.5 20 25 30 35 40 45 50

]
[y ]

—_

DR Moo

DSL Emor (mamg

DSL Error {mils)

[ ]
(= ma Iy ]
1
1
1
(]
Y
(i) ]

-0 0025

-
=

h

o
p

ISF Error (%)
|
[
|
|
[
|
|
|
|

s —

-12 1 e
-10 1 =
-5 1 =

Output (Volts)

2 =

.| 40 g0 a0 100 120 140 460 180 200
Gap (mils)

9m Proximitar + SmCable at 25 deq C (73 deg F)

— — — =48 mProximitor + 8 mCable at 0 deg C (32 deg F)

------- 9 m Proximitor + 8 mCable at -35 deg C (-31 deg F)

B 7 #3300 XL 1lmm 9m RHUE RS 8 m EMFARSE (IRIED (LI 25°0)

BN 3 1 %5 146256-01 FAR VIR 5345 B Page 15 of 20
JiiiAs NC, 20004 9 H



Gap [mm)

05 10 15 2.0 25 50 35 40 45 5.0
10 0.25
& 0.0
o 6 0.15
= 4 0.10
E
= 2 0.8
5
g oo —— 0.
G .z — = ni M S
a4 = SRS - -0.10
B g e = 0.1
¥ T -0.20
-10 — 0.5
5
1 —=T ] ——~’*"’f
2 0 Fr= T -- -
5 fﬂ R Etial I i R
[ g - -
o F= - L.
= ]
i b - - y
w ] q-. :
o < -
= -0 =
.15 1
-20
,_
-1 =5
s
16 e S
— ™ {{,“’f‘f'
2 g Pl
2 e
E " ,.:-f‘f
[ _‘p"
g -8
a =
-E /f..ﬂ"'-
4 ,.f"f
2 -]
..-"""-
0
20 4n 0 &0 100 120 140 160 180 200
Gap [mils)

--8 m Proximitor+ 8m Cable at 65 deg C (150 deg F

B'm Proximitor+ 8m Cable at 23 deg C (73 deg F)
-89 m Proximitor+ 2 m Cable at 45 deg C (113 deg F

-8 m Proximitor+ 2m Cable at 85 deg C 125 deg F)

K8 A 3300 XL 11lmm 9m By E 2T 8 m ZEAMEEZE (EiED

O5L Errar(mim]

(LML 25°0)

BN #B 14 5 146256-01
A NC, 20004 9 H

AU FIT B2 45 5

Page 16 of 20



-+ T T-FM =
_"‘;_“ - M:q:hf'?-:\.k

- h - Y
& ™ ) ;
il .1
o -2 5
g y 1T
= .
5 -3 ) ‘

-4 Ill'ﬁl ._ &) | \

\ | L
-5 . ; \
E IH' - :

100 1000 10000 100000
Frequency (Hz)
Om (0 ) 300 m (1000 1) EO0 m (2000 ff) 1500 m (5000 ff) — — —3600 m (12000 1) |

19 BRI, ANFK IR 3300 XL 1lnm REIIRME » TkaHT

-L Y-
T 1~ H'"T—:
™ B o~ 1-}‘\
x| - ;
& » )
ot B
o -2 0
§ y 1Tk
= .
5 -3 7 *

-4 IH | \ \
P Hlxlk -L.. \
_5 | JIIIE

100 1000 10000 100000
Frequency (Hz)
0m (0 ) 300 m (1000 ) EO0 m (2000 ff) 1500 m (5000 ) — — —3600 m (12000 f) |

10 SRM R, ANFC I IR I MY 3300 XL 1lmm REEMAHAIARAL  TCREH

BN i {4 5 146256-01 FAR UL R B 45 Page 17 of 20
A< NC, 20004E 9 A



Hexe MUt wilth Wirench Flats
Safety Wire Holes

’II:Z]TDIa Mg 75 ohm Cable
(042} Case 2.710.1%9) Max. Qutside Dia. o
Frobe Tip Thread (D’I 1 Max. Dia. for FluidLoc=Cable
/ 6 (0.30) Max. Outside Dia. of Armor
——— o =
i- ___D___JQ?;?;?;?;}\; ] 1 1 Il

— Miniature Male
- 25(0.10) Coaxial Connector
—={ t~— Unthreaded Length 723 10.285) Outside
A Dia. Maxirmum "0

- i_ase Length "B'—»

- —8.4(0.33) Max.
- Total Length "C", +30%, -0% -

K11 3300 XL 11 mm W3Rk, brifizess

330701 1/2-20 UNF—24, JR4d%E
330702 1/2-20 UNF —2A, £
330703  M14 x 1.5 W2z, JRius
330704  M14 x 1.5 g, R4

330707 5/8-18 UNF—2A, 4k
330708 5/8-18 UNF —2A, %l
330709  M16 x 1.5 gy, JF4E3:
330710  M16 x 1.5 iZgr, %

12 (0.49) 12 (0.49)
Dld Max. 51.1 (2.01) Dig. kax.

1T3)M'3“*| "“ Max. "'| 4

@0 71| O
Connectar Protector )_, #

(Fluoresilicone Malerial

12 CZeHEk IR &

BN #B 14 5 146256-01 BRI 5215 B Page 18 of 20

JRA NC, 20004F 9 H



16 ar 12mm
10,7 _ase
0 42)[)'5 Max. Hex Thread

Frobe Tip / 75 ohm Cable
1 3.7 10150 outside Dia.
- +
I | 1 1
- — f

—
Miniature Male
I — 21.6(0.85) Coaxial Connector
— +— Unthreaded Length "A" 7.2310.285) Outside
5.0 {0.20) Dia. Maximum "["
Case Length BJ
A6 11.8)
— — 5.4 (0.33) Max.

- Total Length "C, +30%, -0% -

K 13 3300 XL 11 mm[HRmAIR Ly k&

330705, 3/8-24 UNF—2A
330706, 10 x 1 &4

75 ohm cable

Miniature Male AT(015) max. 0D
Coendal Connector 3.9(0.16) Max. Dia. for FluidLoc®cable
FEP TE1030) Max. QD of Armoaor

51 gprﬁgﬁdﬁgtﬁr 51 7.2 (0.285)
(207 Max. Dia.
' 300 (11.8) e
|Iess than cable Iength
i_l. tltltltlt\_ﬂll_lk o ok
TR * I
FEF Insulated
(3.25)(3.25) Coaxial Cable

=tainless Steel Ferrules Miniature Female
8.4 (0.33) Dia. iZoaxial Connector

- _able Length +20%, -0% -

7.21(0.285)
Max. Dia.

A

14 330730, 3300 XL 11 mm ZEffALZE

BN i {4 5 146256-01 FAR UL R B 45 Page 19 of 20
A< NC, 20004E 9 A



Mlounting Option
"A" Options -A0 or -50

51
(0.2
K15 THRCAHE 3300 XLo11 mm [ E A
hounting Option
"A" Options -51 ar-91

Jamm OIM rail
(hot included)

70.5/(2.79)

894 (3.6
[Additional

30501200
clearance required

to remave DN rail]

K 16 5823523300 XL 11 mm Jiy & 48

BN 5 f 5 146256-01 BAR VAT 545 B Page 20 of 20
JRA NC, 20004F 9 H



